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f(x,y) I a= x =b, yERTEBESNI2EHEAK LT 5. 1
BOEMSAERX ¥y =fxy) #2FZXS. CDOLZE EE
M x€ [a,bllcHLT Yy =fKx,yX)&iD k5 ECEHRDE
By=y () ZEHMAAERXO—BREFEIELNS. yEX
bhf=& &, y@=y, ERmT&53GHBEROIBEEEERM
SAEEXDODPERBEELNS.
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‘X [a, b] ZFR/IPE a=x,<x,<x,<***<x _=b, h=(b—a)/n [Z5El
dxy) FE5EZ oNT-EHH, BEBEY)OHERZY.ET 5.
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1 RS EEZER[EIE p.155

- 1 BRFEE
yir1 = yi + ho(zi, y;) + O(RPT)

REpDBEEZEED, F-IpRODBEEZELDOENS.

-FFBEREERE
= P (i)
% BRIk
Yit1 = ooy toryi—1+ -t op_1Yip11

+he (@, @i 1, Tt 1, Vi, Yie 1, Yiopa1, h) + O(RPTL)

REpDBEEZEED, F-IpRODBEEZELDOENS.
BT BEREERE

_ yi—1— (xoy taryi—1 + o+ o 1Yi—k41)
Tid1 = ;
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[a,b]Z& n FHL, %bﬁﬂ-i x; &
h=2"¢

zo=a, z;=a+ih(i=1,2-,n)
h : ZlAiE
v, =v(x) £ETBE, TA—DEEKY
yir1 = y(x) + hy'(x;) + h;y”(xz' +0h), 0< O <1
= y; + hf(zs, ) + O(h?)
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Y;—I-hf(CUZ,Y;), t=0,1,2,---,n—-1

I
px
[



47

%7054 p157

#include <stdio.h>

/< BABIDER */

double func(double x, double y);

1% A A5—i&*/

void euler(double x, double y, double a, double b, int n,
double (*f)(double, double) );

int main(void)
{
int n;
printf(" 2 BEEA AL TS -->");
scanf(" %d",&n);
euler( 0.0, 1.0, 0.0, 1.0, n, func );
return 0;

}
1* A A5—i& */

void euler(double x, double y, double a, double b, int n,
double (*f)(double, double) )
{
double h;
int i;

h = (b-a)/n; /* ZIFHNE */
for (i=0;i<n;itt){
y=yt+h*Hxy);
x +=h;
printf("'x=%f ¥t y=%f ¥n", X, y );
}
}

/* BRDES */
double func(double x, double y)
{

return(x+vy);

}
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x=0.1 y=1.1
x=0.2 y=1.22
x=0.3 y=1.362
x=0.4 y=1.5282
x=0.5 y=1.72102
x=0.6 y=1.943122
x=0.7 y=2.197434
x=0.8 y=2.487178
x=0.9 y=2.815895
x=1 y=3.187485
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-(8.2) KUY . 5 5
y'(2) = —f(a,y(@) = 5 f(@,y(@) + 5 f(@,y(@))y
T x Y
2EHDTAS—DEEKY

f@+ah,y+ph) = f(z,y)+ah

af(ajvy) af(m7y) 2
5 + Bh oy + O(h”)

0 15 Ys 0 1 Y
flxi +h,y; +hf(xi, ) = flxg,y:) +h ﬂgx i) + hf(x;, y;) f(gy i) + O(h?)

= f(=i,v;) + hy"(z;) + O(h?)

1EROTA5—DEELY ,
Vb1 = v+ b @) + oy () + OG)
vit1 = yi+hy'(z) + h;y"(fc@) + 0(h%)
RN CE IV L CEDESCIELICS

h
= y+ §(f(93z', yi) + f(@ia1, i + hf(zi,v))) + O(h3)

)+ O0(h3)



RAE p.158

TRE2D1EfEE "M% (Heun method)

Y.

+1 — Y,L—I—hqﬁ(xz,Y;), 1=20,1,2,---,n—1

B YD) = S (Fn YD + f@igpn, Vit hf (i, VD))

TRAVET LTI L
Input «,Y,a,b,n

h<+< (b—a)/n
for. =0,1,2,---,n—1
ki1 <+ f(z,Y)
ko < f(z+ h,Y + hky)
Y Y+ (k1 + ko) r
r+<—x+h
Output Y

end for X
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#include <stdio.h>

1+ BBRDES */

double func(double x, double y);

1* IRA ik */

void heun(double x, double y, double a, double b, int n,
double (*f)(double, double) );

int main(void)
{
int n;
printf(" 73 EI#EA L TEEL-->");
scanf(" %d",&n);
heun( 0.0, 1.0, 0.0, 1.0, n, func );
return 0;

}
1% RA & */

void heun(double x, double y, double a, double b, int n,
double (*f)(double, double) )
{
double k1, k2, h;
int i;
h = (b-a)/n;
for (i=0;i<n;itt){
k1 = f(x,y); k2 = f(x+h, y+h*k1);
y=y+h/2.0 * (kl +Kk2);
x +=h;
printf("'x=%f ¥t y=%f ¥n", x, y );
}
}

* EBRDES */
double func(double x, double y)
{

return(x+vy);

}
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x=0.4 y=1.581804
x=0.5 y=1.794894
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x=0.9 y=3.012364
x=1 y=3.428162
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